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Rule Change Intent

The intent of the proposal is to re-organize the Annexes into a logical order and to update the Annex to align with the Eventing Chapter Style Formatting 
Guide created by the Eventing Chapter Task Force.
Previously, Appendix 6 Eventing Cross-Country Obstacles and Appendix 7 Eventing Diagrams of Faults. The new Annex 4 is attached for review.
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APPENDIX 7ANNEX 4 - EVENTING – DIAGRAMS OF CROSS-COUNTRY OBSTACLES & 
FAULTS

WITH SEVERAL ELEMENTS
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APPENDIX 7 - EVENTING - DIAGRAMS OF FAULTS

AT CROSS-COUNTRY OBSTACLES

Diagrams of Cross Country Obstacles and Faults

The following Diagrams are non-exhaustive examples for reference. The wording of the

respective rules will prevail.

+

                                          

Diagram nr 7 Diagram nr 8

EV 0.0 | Tracking #158-22 Page 4 of 7Friday, March 31, 2023 3:48 PM



Diagram nr 7 Diagram nr 8
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Diagrams 27 & 29 – Updated

At an obstacleObstacle composed of several elements (A, B, C, etc.) a Horse will be penalisedpenalized if it 
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passes around the back of any element or circles between elements.

Red route: 20 penalties, because it passes around the back of element, B (crosses the entire projection of 
the back of the element B)

Blue route: Clear, because it avoids passing around the back of element, B (crosses the entire projection of 
the back of element B, but crosses back to avoid passing around the back of an element B)

Green route: Clear, because it avoids passing around to the back of element be space (avoids to cross 
the entire projection of the back of element B)
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